i% EP kfﬁ‘%‘i 100% #‘}%I’é\ v—]l:iji :JI:E i %%ﬁ%ﬁ% 3% 1072 B4R 332

WM BT AR A TR | 85 | 100

5 = A,
ft B ERE % i lm TRy

SEH BB R B E BN - $2H BI1H
1. Find and sketch both the Thevenin and Norton equivalents at terminals a-b ot the circuit shown 1n
Fig. 1. (10 %)
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Fig. 1

2. The switch in the circuit shown in Fig. 2 has been in position a for a long time before switching to
position b at £ = 0.
(a) Find the numerical expression of i(f), vi(f), and vy(f) for ¢ = 0" [15 %]
(b) Determine the energy store in the capacitor at £ < 0 [5 %]
(c) Determine the energy trapped in the circuit at £=0" [5 %]
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Fig. 2

3. The switch in the circuit shown in Fig. 3 has been opened for a long time before closing at £ = 0.
Assume no initial energy is stored in the circuit, find v¢(f) for £ = 0. (15 %)
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4. The sinusoidal voltage source in the circuit seen in Fig.4 is operating at a frequency of 200 krad/s.
The coefficient of coupling k is adjusted until the peak amplitude of j, is maximum. (a) What is the

value of f ? (b) What is the peak amplitude of i if v, = 560cos(2x10°t) V2 (20%)
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Fig. 4

5. There is no energy stored in the circuit in Fig. 5 at the time the switch is closed. (a) Find 7 (s) . (b)
Find v (1). (20%)
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Fig. 5

6. Find the s-domain expressions for the j, parameters of the two-port circuit shown in Fig. 6. (10%)
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Fig. 6



